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QUESTION 1

Which security option is available to completely remove data by overwriting the space occupied by the Blob?
A. Data deletion

B. Data shredding

C. Full Garbage Collection

D. Incremental Garbage Collection

Correct Answer: B

QUESTION 2

A CE removes a node on a Gen4 Centera while regenerations are running. Which problem could this cause?
A. Regenerations will fail

B. The new node will not join the cluster

C. Customer data will be left unprotected

D. No problem, at 3.0 it is ok to remove a node while regenerations are running

Correct Answer: C

QUESTION 3

Exhibit:
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t Higher Layers

+ Lower Layers

0S| Model

Which layer in the OSI model is involved in addressing and routing information?
A. Network

B. Data link

C. Physical

D. Transport

Correct Answer: A

QUESTION 4

A customer is using CE+. What is the modem configuration?

A. Modem is not allowed

B. Modem will be available and will dial out for alerts

C. Modem will be available and connected only when support is required

D. Modem will be available and connected automatically when Centera fails

Correct Answer: C

QUESTION 5

The customer has a single 16 node Centera which has been running for six months. They decide on a disaster recovery
scenario and order another Centera for Replication. After Replication is turned on, the customer notices a difference in
the object count between the two Centeras. What needs to be done?

A. Check the network

B. Order another Centera
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C. Issue Restore command from the CLI
D. Turn off Replication and turn it back on after 10 minutes

Correct Answer: C
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